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1.

2.

3.

SET-A

Optional Paper / d®fed® YTTUA : Science Group / fas=1 a3

Malaria spreads by :

(A) Male Anopheles mosquito
(B) Female Anopheles mosquito
(C) Both (A) & (B)

(D) None of the above

Which of the following animals belong to
class reptilia ?

(A) Frog

(B) Lizard

(C) Snake

(D) Both (B) & (C)

Which of the following enzymes act on
proteins ?

(A) Pepsin

(B) Ptylin

(C) Lipase

(D) Hexokinase

1.

2.

3.

HARET e 2

(A) TR B A2ex |
(B) ATGT UAMhIed Heer |
(C) T (A) 3R (B)

(D) SWITd d | PIg AT &l

1 & 9 a9 w1 ol S| @t @1
g7

(A) Hedh

(B) Touamell

(C) Wy

(D) ST (B) 8iR (C)

9 ¥ 9 o9 91 Ts® Ui R B
BT & ?

(A) U=

(B) TTEferd

(C) o
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4.

S.

6.

Thyroxine is a :
(A) Enzyme

(B) Hormone

(C) Catacholamine

(D) Co-enzyme

Theory of mutation is given by :
(A) Lamarck

(B) Darwin

(C) Hugo de-vries

(D) Mendel

How many chambers are present in our heart ?
(A) Two chambers

(B) One chamber

(C) Three chambers

(D) Four chambers

6.

S.

SET-A

SIENCHIE I
(A) TTTEH

(B) ERAM

(C) BeTPIAATE

(D) B—U~ITEH

IARTdT & R & TS 7 -
(A) oHT gRT

(B) SIfd g

(C) M S—TasT gRT

(D) Hsdl gRT

TAR gad # fhds daR (Fe) B € °?
(A) &1 R (Pe)
(B) T s (cpe)
(C) IF TR (&)

(D) IR daR (e
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7.

8.

Biology is the study of :
(A) Animals

(B) Plants

(C) Both (A) and (B)

(D) Fungi

Which of the following animals has/have
back-bone or vertebral coloumn ?

(A) Fish

(B) Man

(C) Snake

(D) All

Sponges are :

(A) Animals

(B) Plants

(C) Both (A) & (B)

(D) None of these

7.

8.

9.

SET-A

Sia faee &1 3rFg BT © ¢
(A) TR &1 ereaas
(B) AT T eI
(C) THFI (A) 3R (B) &7 a4+

(D) HIDB] BT A

=1 3§ | | gt § g 31 gl Bl
g7

(A) 7ol

(B) Ag™

(C) wiu

(D) 91 #

Wl B B

(A) uroft

(B) der

(C) T (A) 3R (B)

(D) SWRIGd H PIs T8l
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SET-A

10. Dolphinisa: 10. SfAfBT Th YHR DI :
(A) Fish (A) 9Bl &
(B) Reptile (B) WU &
(C) Mammal (C) We! &
(D) Insect (D) ®Ic &
11. Which of the following is normally used in 11. |R SOl I8 B T Aok Hhx H M AR
solar cooker for trapping solar energy ? R 9 9 9 At ganT fbar simar g 2
(A) Solar Panels (A) dreR U9t
(B) Silicon cells (B) faferd™ ded
(C) Mirrors (C) =T
(D) None of the above (D) SWRIGd H BIs T8l
12. Power of a lens is —40, its focal length 12. T o= @ ofdd —40 B, SHHT AT
is : (focal length) BT ?
(A) 4m (A) 4m
(B) 40 m (B) 40 m
(C) -0.25m (C) -0.25m
(D) 25 m (D) 25m
6 [B-2]




13. With increase of pressure, the boiling point
of any substance :
(A) Increases
(B) Decreases
(C) Remains same

(D) Becomes zero

14. Inradio, television and cell phone, information

is sent either through optical fiber in form

of :

(A) Cathode rays
(B) Electric signals
(C) Light

(D) Electromagnetic waves

15. The study of production, properties of ionic
state of matter in Physics is called :
(A) Atomic Physics
(B) Plasma Physics
(C) Mechanics

(D) Nuclear Physics

SET-A

13. TE & de4 W ol vt & F@erie )

BT JHTT TSl & 7
(A) 9T &
(B) &l &
(C) @8I 911 J&aT B

(D) TR B ST &

14. e, <ANTTH qm ¥ BE H G

Mftedhdl BIgeR gRT fhd wu # Foi el
g

(A) DTS ool gRT

(B) g Hebdd g

(C) UHTT §RT

(D) Solag! HHCH AN g

15. U & S e & e Ud ol &

3G B Hifcie fAT= bl IMRAT BT 14 © 2
(A) WRATE Hifaa!

(B) o Hifcrat

(C) arfa

(D) TTf@R Hifas!
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16. The magnetic field is strongest at the :
(A) Middle of the magnet
(B) North Pole
(C) South Pole

(D) At both (North & South) Poles

17. Whatis the gravitational potential energy for
infinite distance ?
(A) Zero
(B) Infinity
(C)9.81]

(D) None of the above

18. Which of the following is the unit of strain ?
(A) Newton
(B) Kg
(C) Watt

(D) None of the above

SET-A

16. FEHIT & IMRIHTH BT ®

(A) T9& & 7eg H
(B) STRI gd W)
(C) =i ga =

(D) ST qr ferfl gFi gal wR

17. 39 R R B RSt <t & A9

=1 5 | a1 8rm ?
(A) A
(B) o=
(€) 9.81

(D) SURIAT H | PIg el

18. /=1 # ¥ A&l (strain) @1 gbrg &1 © ?

(A) e
(B) T
(C) dfe

(D) SWRIad H BIS 78!
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19. Which of the following is the correct
equivalent of 1 atmosphere ?
(A) 1 atmosphere =1.013 x 10° Pa
(B) 1 atmosphere = 1.013 x 10* Pa
(C) 1 atmosphere = 1.013 x 10° Pa

(D) 1 atmosphere = 1.013 x 10 Pa

20. Which of the following is the cause of echo ?
(A) When sound is absorbed
(B) When sound is transmitted
(C) When sound is reflected

(D) When sound is refracted

21. Dry Gram seeds when soaked in water, it
absorb it by :
(A) Endosmosis
(B) Osmosis
(C) Imbibition

(D) Absorption

g7

(A) 1 atmosphere =1.013 x 10° Pa
(B) 1 atmosphere =1.013 x 10* Pa
(C) 1 atmosphere =1.013 x 10° Pa

(D) 1 atmosphere =1.013 x 10* Pa

20. ufdeafy &1 = & 9 R=IT7 HRoT B 7

(A) af & STIIMYI & BRI

(B) @Y & URITHAA & BRI

(C) @ & WRIadT & BRI

(D) &af & Madd & BRI

SET-A

19. ¥4 9§ BIF U argavSelid &4 & AHAGT

2. G TS & B T P o

a1 I8 Y b7 9T fb fhar gRT aRar ©

(A) II=<TURTHAROT
(B) IRTERUT
(C) 3T=<T:3M9oT

(D) 2MNEoT
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22. Transpiration is measured by :

(A) Osmometer

(B) Potometer

(C) Porometer

(D) Sonometer

23. Enzyme were discovered first in :
(A) Maize
(B) E.Coli
(C) Yeast

(D) Chlorella

24. About 90% of total photosynthesis of the

world carried out by :
(A) Algae

(B) Trees

(C) Shrubs

(D) Bryo, Pteridophytes

10

SET-A

22. 9O BT A9 9 IF & gRT fhar

23.

24.

ST B

(A) ST IRTARTT
(B) TRTERT

(C) 3r:2nyor

(D) 2MNEoT

U=TSH &I @iol U fhaH g off -
(A) 995 |

(B) §. Pl H

(C) g%

(D) FARCT |

faea &1 90% UebTer Ayl = ¥ fhas
gRT BT © :

(A) 3araT

(B) &

(C) snfeat grT

(D) §TRN, SREBIZE R
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25. Which element is Macro-Nutrient :

SET-A

25. B9 AT dcd U9 YIS ©

(A) Zn (A) Zn

(B) Ca (B) Ca

(C) Mo (C) Mo

(D) Mn (D) Mn

26. “Kranz” Anatomy is found in : 26. ot AT A H faH g S ®

(A) Sunflower (A) g

(B) Maize plant (B) HahT e

(C) Solonum (C) Il
(D) Pea plant (D) Hex Uiy

27. Biological Nitrogen fixing bacteria are

27. 91 # fha®d o8 # AsereT RfileRor

present in the roots of : SIEINECIACIC IS
(A) Wheat (A) g H

(B) Cotton (B) HurT H

(C) Gram (C) == H

(D) Maize (D) Ha®T H

11
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28. The movement in leaves of ‘Mimosa Pudica’

is due to :

(A) Seismonastry
(B) Seismotropy
(C) Photonasty

(D) Geonasty

29. “Jhum” cultivation was adopted in some part

of :

(A) Uttar Pradesh
(B) Assam

(C) Madhya Pradesh

(D) Rajasthan

30. First “Chipko” movement was started by :

(A) Amrita Devi

(B) Sharda Devi

(C) Baba Ampte

(D) Sunderlal Bahuguna

12

SET-A

28. ©gHs @I uRwl H T BT BRI T

(A) HSHMET

(B) WIS

(C) B!

(D) R

29. A Tl 9 ySw # fHEH eruers T -

(A) TR U

(B) 3™

(C) e a9l

(D) ToTReIH

30. U2H RIUeT <o fhds gRT U™ fHar

YT AT

(A) 3THar <dr
(B) ¥IRaT <41
(C) draT 3

(D) <X ©ffel 9870
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31. Maximum Paramagnetism is found in :

32.

33.

(A) [Ar]3d?
(B) [Ar]3d’
(C) [Ar]3d°

(D) [Ar]3d°

‘Fe’ belongs to which block of Periodic
table :

(A) s-block

(B) p-block

(C) d-block

(D) f-block

Which of the following bond is weakest :
(A) Ionic bond

(B) Co-valent bond

(C) Metallic bond

(D) Vander Waals Attractive Forces

13

SET-A

31. ARFHIA FHEBE U1 ST ©
(A) [Ar]3d°
(B) [Ar]3d°
(C) [Ar]3d°

(D) [Ar]3d°

32. fuRenfesd aifoer & 9 i d “Fe”
IR ST ©
(A) s
(B) p-<iteh
(C) d-=if®

(D) f-<iid

33. /1 9 ®H—41 99 gl © ¢
(A) gdra a7
(B) WEHAISTD a7
(C) arfeae de

(D) TR dTel MMBHYIT g

[B-2]



34. The ratio of cp/cV for monoatomic gases
is
(A) 1.40
(B) 1.66
(C) 1.33

(D) 2.66

35. A normal solution of H,SO, contains how
many grams of it in water :
(A) 49 gms
(B) 98 gms
(C) 24.5 gms

(D) 12.25 gms

36. Chemically rust is :
(A) Fe,0,
(B) FeO
(C) Fe(OH),

(D) Fe,0, . 2H,0

14

SET-A

34, TH TS TH B AU je, BT SUT
=
(A) 1.40
(B) 1.66
(C) 1.33

(D) 2.66

35. H,SO, & -¥d facrad # g4qa fdba- M
T # SUReT B T
(A) 49 74
(B) 98 U
(C) 24.5 94

(D) 12.25 9™

36. ST &1 ARG T ®
(A) Fe,0,
(B) FeO
(C) Fe(OH),

(D) Fe,0, . 2H,0
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37. Cow milk is an emulsion stabilised by :

(A) Fat

(B) Water

(C) Casein

(D) Mg ion

38. Washing soda is :
(A) Na,CO,.10H,0
(B) Na,CO,
(C) Na,C0,.4H,0

(D) Na,CO,H,0

39. Which of the following is Lewis acid :
(A) NH,
(B) BF,
(C) ROH

(D) R,0:

15

SET-A

37. T &1 §Y Ud SHAEA o, FoTadT I
= &) SuRerd & wRoT BT 2 -
(A) =€t
(B) STl
(C) DA

(D) Mg I+

38. o199 WIST ©
(A) Na,CO,.10H,0
(B) Na,CO,
(C) Na,CO,4H,0

(D) Na,CO,.H,0

39. /4 # 9 gd I © ¢
(A) NH,
(B) BF,

(C) ROH

(D) R,O:
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40. Which of the following is not a polymer :
(A) Rubber
(B) Plastic
(C) Protein

(D) Chlorophyll

41. IfF(Xl) = F(Xz) =X, =X, ¥x,x, €A, then
the function F: A > B is :
(A) One — One
(B) One — One, ONTO
(C) ONTO

(D) Many One

42. If f: R — R such that f(x) = 5x + 4, then

which of the following is equal to f1(x) :
x—35
4
x—3
5
x—4
5

(A)

(B)

©)

X5

(D) ;7

16

SET-A

40. 71 3§ B9 98P T © -
(A) TR
(B) wiRe®
(C) |

(D) TR

1. IF=F =X =X,Vx,x, €A, T
% F:A—>B g
(A) a9 — a4
(B) 99 — I, el
(C) 3Tier

(D) ®3 a1

42, I f:R >R 39 YR IRYINT & fH

f(x)=5x+4, a9 9 & & fl(x) SRR B :
X—=5
4
x—3
5
x—4
5

(A)

(B)

©)

(D) =5

X

4-5
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. 21w .
43. The value of sin! (sm ?) is equal to :

44.

45.

27
A 5

T
®) ¢

4
© =

T
(D) 3

If sin"'(1—x)—2sin"! x :g, then x is
equals to :

(A) 0, 5

(B) 1, 5

© %

(D) 0

3 4 5
The value of determinant |0 2 3| iS:

0 0 7

(A) 40
(B) 50
(C) 42

(D) 15

17

.2
43. sin’! (sm?ﬂ:) BT ATF aRI6N © -

27
A 5

SET-A

44. =l sin_l(l—x)—2sin_1x=§, a9 x BT

45.

A SRR ©

(A) 0,

®)1, 4

©) )%

(D) 0

IRMOTG [ 2 3| BT HF T

(A) 40

(B) 50

(C) 42

(D) 15

3 45

0 0 7

[B-2]



46. IfA=11 1 1],thenA?isequalto:

1 11

1 11

(A) 27A

(B) 2A

(C) 3A

(D) 1

dx
47. Value of integral Jﬁ 1S :

48.

(A) Jx +x
(B) 2\/;+x
©) x+x

(D) %xm +x

The modulus of vector 7i — 23’ +k is:

(A) V10
(B) /55
©) 3J6

(D) 6

18
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SET-A

46. T A=|1 1 1, Td A2 BT 9 aRTeR 2 :

111
(A) 27A

(B) 2A

(C) 3A

D) 1

dx
47. FHIHA Jﬁ BT A B

(A) Jx +x
(B) 2\/;+x
©) x+x

(D) %xm +x

48. 9fe3 71-2j+k BT URAT © :

(A) V10
(B) /55
(©) 3J6

(D) 6
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49. If A and B are two independent events,

50.

then :
(A) P(AnB)=P(A) x P(B)
(B) P(AB)=1-P(A") P(B’)

(C) P(AB) =1 + P(A’) P(B)

P(A)
P(B)

(D) P(AB) =

The direction cosines of the y-axis are :

(A) (6,0,0)

(B) (1,0, 0)

(©) (0,1,0)

(D) (0,0, 10)

19

(A) P(A " B)=P(A) x P(B)

(B) P(AB) = 1 — P(A") P(B")

(C) P(AB) = 1 + P(A’) P(B)

P(A%)

(D) P(AB) = 5o

50. y-31&l & fah—PIoaT & -

(A) (6,0,0)

(B) (1,0, 0)

(©) (0,1,0)

(D) (0,0, 10)

SET-A

49, I A TT B <1 Wad e §, d9 :
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SET-A

Optional Paper : Commerce Group (d&fedd Y3 UF : d1forsd 97f)

1. Financial statements are : 1. o< fda=or g
(A) Estimates of facts (A) Tl & CEI'T_:[HW
(B) Anticipated facts (B) deal @1 wiasgaron

(C) Recorded facts (C) T & HUE

(D) All the above (D) SWRIGT T4
2. Which of the following is not current assets : 2. T H =1e] IRy T8 g
(A) Patents (A) U
(B) Debtors (B) TSR
(C) Stock (C) efaar
(D) Prepaid Expenses (D) yded =Y
3. Anincrease in variable costs : 3. uRad=efiar g # E{ljcla’ :
(A) Reduces contribution (A) T BT HF R <l &

(B) Increases P/V ratio

(B) °IM—HTAT FfJUTd AR

(C) Increases the profit (C) &I BT de1dl @

(D) None of these (D) SWRIFT H BIg &l

20
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4.

P/V ratio 50% and percentage of margin of
safety 40%, sales ¥ 1,00,000; Hence BEP will
be :

(A) % 40,000

(B) % 60,000

(C) % 80,000

(D) None of these

Goodwill is the ............ Assets of business.
(A) Tangible

(B) Intangible

(C) Fixed

(D) None of these

Super profit is :

(A) Actual Profit

(B) Excess of Normal Profit
(C) Average Profit

(D) None of these

4.

21

SET-A

CIT—ATAT ITUTT 50% TAT GRET U DT
ufcrerd 40%, 9B 1,00,000; 3T S<arg
AT W fa=g 81

(A) % 40,000

(B) % 60,000

(C) Z 80,000

(D) SWRIad H BIS 78!

(D) 579 | ®lg el

31T 2

(A) IRAAPH A

(B) 9M=I W 31fSId AT
(C) 3 d ot

(D) SWRIad H BIS 78!
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7.

8.

9.

Cash-flow statement is prepared from :
(A) Balance sheet

(B) Profit & Loss A/c

(C) Additional informations

(D) All the above

Cash proceeds from issue of shares is :
(A) Operating activities

(B) Financing activities

(C) Investing activities

(D) None of these

Purchase of Goodwill by issue of debentures
is

(A) Uses of fund

(B) Sources of fund

(C) No flow of fund

(D) None of these

22

7.

8.

9.

SET-A

JApes—gdrg faerer R fear i &

(A) e facaT |
(B) aM—28I @ 9|
(C) SIfrRax el |

(D) STRIGd T

3T & AT UT IHbs BT
(A) aReErer fbarg
(B) fa=fra feramd
(C) fafram fovamg

(D) 379 A ®1g el

Ty BT HI FOYAT & 799 @

BT :

(A) =S BT TN

(B) B=S I 3INTHT

(C) ®vs H PIs gRadd &l

(D) 379 9 ®1g el
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10. Which of the following is non-current
liability :
(A) Mortgage loan
(B) Bank overdraft
(C) Outstanding wages

(D) None of these

11. Excess working capital is evidence :
(A) Advanced Credit
(B) Demand of the product
(C) Idle funds

(D) None of these

12. If operating expenses are I 2,00,000 and

operating cycle in a year 1.25, then working

capital will be :
(A)  1,25,000
(B) % 1,60,000
(C) % 1,00,000

(D) None of these

23

SET-A

10. F=fafad 5 9 o9 |1 IR Are] <R

g

(A) T 0T
(B) 9% srffasmy
(C) ST&T HIG
(D) 3774 & PIE Tl

11. IJeH SRS Yol YA & -

(A) ST AT BT
(B) S<ATE &I ART &I
(C) ffma ol &t

(D) 579 | ®lg =TEl

12. Ife uR=res =g ¥ 2,00,000 &1 3R a9

H uReme g% 1.25 81, d drRige goil
BIRfY :

(A) % 1,25,000

(B) % 1,60,000

(C) % 1,00,000

(D) 579 | ®lg =TEl
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13. Advance call is :

(A) Liabilities

(B) Assets

(C) Profit

(D) Loss

14. Dividends are usually paid on :

(A) Authorised capital
(B) Issued capital
(C) Called up capital

(D) Paid up capital

15. Market value of shares of a company is ¥ 80

and book value of same shares is T 50,
company is in stage of :

(A) Over capitalisation

(B) Under capitalisation

(C) Fair capitalisation

(D) None of these

24

SET-A

13. 31| I 7

14.

15.

(A) T
(B) SqHIfRT
(C) &

(D) =1

FTTeT AT YA T ST ®
(A) 3R ot o
(B) frffac ot wr
(C) arfee Yot =

(D) goiee ol R

T ST @ 3T BT IR Jed T 80 7 3R

S+21 3fell g HeI 350 © | Pl ol Reafay
BIRfY :

(A) SfadSiIHRoT Bl

(B) JTYSITHROT BT

(C) SR YSTaxoT o7

(D) 379 9 ®1g el
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16. Leverage means :

(A) Gear box of a car
(B) Capital structure
(C) Profit loss

(D) Effectiveness

17. Capital employed is equal to :

(A) Total assets
(B) Total assets - Total liabilities
(C) Fixed assets + Working capital

(D) None of these

18. No. of equity shares 3,000; dividend per share

% 2; Earning per share X 5; hence payout ratio
is :

(A) 40%

(B) 30%

(C) 20%

(D) None of these
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SET-A

16. RS &7 372 © -

(A) T BT TR 9t
(B) qofr <
(C) r—zaTfA

(D) uHTereietar

17. oY T doft a_TeR Bl ©

(A) B FHURT ©
(B) Bt GHRT — §ol I &
(C) =t FHfy + Frieia IS &

(D) 579 | ®lg el

18. HH3TN & G&AT 3000; Ufd A AT

32, Ufd 3% 3y X 5; 3fd: YA SgUTd
g

(A) 40%

(B) 30%

(©) 20%

(D) 579 | ®lg -TEl
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SET-A
19. If the operating ratio is 75%, the net profit

19. IfT Fared U 75% ©, d Y& o™

ratio will be : U BRI :

(A) 30% (A) 30%

(B) 25% (B) 25%

(C) 20% (C) 20%

(D) None of these (D) 37H | PIZ &l

20. Which of'the following is a satisfactory liquid

20. 91 H 9§ BT GAYSHD aRel AU

ratio : i

(A) 1:1 (A) 1:1

(B) 1:2 (B)1:2

€ 2:1 € 2:1

(D) None of these (D) 37H | PIZ &l

21. Earning per share of X Ltd. is ¥ 15.75/- and

market price of this share is ¥ 180/-, while

its face value is ¥ 100. The cost of share

21. uaq for. @) ufq afer s T 15.75/- 8, 59

3 BT IR oI X 180/- B, Sidfs gaDT

dfbd Heg T 100 &, 3 Yol &I rrd

capital will be : B

(A) 7.50 (A) 7.50

(B) 8.75 (B) 8.75

(C) 9.25 (C) 9.25

(D) None of these (D) 37H | PIZ &l

26

[B-2]



22. Iftherate of Gross Profit for Department ‘A’ is
20% of the cost and its sales value
% 1,20,000; the amount of gross profit will be :
(A) 25,000
(B) 20,000
(C) 16,000

(D) None of these

23. In partnership, a minor :
(A) Can not be a partner
(B) Can be a partner
(C) Can be admitted only to the benefits

(D) None of these

24. Negotiable Instruments Act came into force
with effect from :
(A) 1981
(B) 1972
(C) 1932

(D) 1881
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22. Ife M & & U 9ad o9 &1 <X

ST WR 20% &1 3R g9 fdw! ¥ 1,20,000
&1, AT Fhd A BT T BT

(A) 25,000

(B) 20,000

(C) 16,000

(D) 379 A ®1g el

23. WEIGRT ¥, Udh IJaID

(A) HARIER 981 99 Addl

(B) WTEIGR &9 Adhdl &
(C) dadt oMl & forg wnfAe favar ST |adhar &

(D) 379 A ®1g el

24, Ay Ay o sl o faar
T
(A) 1981
(B) 1972
(C) 1932

(D) 1881
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25. Controlling unit under Budgetary Control
is
(A) Period
(B) Per unit of product
(C) Department

(D) None of these

26. The first step in preparing a budget is :
(A) Cash forecast
(B) Production forecast
(C) Sales forecast

(D) None of these

27. Responsibility centre may be :
(A) 2
(B) 3
(C) 4

(D) 5
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25. goieNl =0T & Sidia AT @ gahls

Bl ©
(A) m@fer
(B) SWTE @I U SHIS
(C) fawmT

(D) 379 9 ®1g el

26. FoIc 99T H UBCAT TROT BT @
(A) RPs qarga
(B) TG YaH
(C) s gargA

(D) 379 A ®1g el

27. ITREIAE &% 8 Fhd o
(A) 2
(B) 3
©) 4

(D) 5
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28. Standard costing helps in :
(A) Controlling prices
(B) Measuring efficiency
(C) Increasing profits

(D) Reducing losses

29. Which amongst the following is not a
measure of studying correlation :
(A) Scatter Diagram
(B) Lorenz Curve
(C) Correlation Graph

(D) Concurrent Deviation

30. Ina symmetrical frequency distribution :
(A) X>M>7Z
B) XxX=M=2
C) xX<M<z

(D) x<MmM<z

29

SET-A

28. YA AT Ay AEET ugandt §

(A) & FREF0T R H
(B) BRIGRIST ATG 4
(C) 4 ghg &= H

(D) BT &9 & H

29, fa=foRad & &F Aed=~ & ITIT Dl

IS

(A) faerg &=
(B) @R~ a%
(C) TEd== UTh

(D) ST fager=

30. T FHMHT 3T faawor ¥
(A) X>M>7Z
B) XxX=M=2
C) X<M<z

(D) x<M<z
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31. Determine the correct mean from :
1,2,4,5,3
(A) 2
(B) 3
€ 4

(D) 5

32. Ideal formula for index number is associated
with :
(A) Fisher
(B) Laspeyre
(C) Paasche

(D) Bouley

33. Ifvariance is 2.25 then S.D. (o) will be :
(A) 1.5
(B) 2.5
(©) 35

(D) 4.5
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31. 7= eridsl ¢ 1,2,4,5,3 ¥ @& A=F A0
STRATY
(A) 2
(B) 3
€ 4

(D) 5

32. MICeN® (Gadid) &1 & g Fwd

A) fheR 9
(B) TIRR ¥
(C) ured ¥

(D) 91Sa 9

33. IS gwRor 2.25 € dF y919 fd=er 8r
(A) 1.5
(B) 2.5
(C) 3.5

(D) 4.5
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34. High degree of correlation is assumed

35. The provider of Universal Banking is :

36.

when :

(A) y=045
(B) y=0.68
(©) y=.89

(D) None of these

(A) ICICI
(B) SBI
(C) PNB

(D) None of these

Reserve Bank is :

(A) Government Bank

(B) Advisory to Government
(C) Both above (A) and (B)

(D) None of these
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34, SRR AEg—FHY AT Sl % gfa -

(A) y=0.45

(B) v = 0.68

(C) y=.89

(D) 379 A ®1g el

35. gAgHe dfeT yeTar € ¢
(A) ICICI
(B) SBI
(C) PNB

(D) 379 9 ®1g el

36. R9d § & -

(A) RER & 6

(B) GXPR DT HATEDR
(C) SWRIaT (A) T (B) <l

(D) 379 9 ®1g el
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37. Nationalisation of GI.C. was taken place in :

(A) 1956
(B) 1964
(C) 1971

(D) None of these

38. Which is not the kind of Bank :
(A) Moving Bank
(B) Development Bank
(C) Investment Bank

(D) Savings Bank

39. Media of advertising is :
(A) Samples
(B) Premium
(C) Calender, diary etc.

(D) Demonstration
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37. NATETROT ST fARTH BT RTSETIDHROT g3
(A) 1956
(B) 1964
(©) 1971

(D) 579 | ®lg -TEl

38. f=foRed # @9 w1 9@ siRae § 72 2 -
(A) TTirefa §&
(B) fawra 4%
(C) fafrarT 9@

(D) 9d d&

39. fa=mus &1 A B
(A) L
(B) Wiz
(C) Pelrer, T 37

(D) forardtsd Uge=
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40. Price Policy is determined by :
(A) Lower Management
(B) Middle Management
(C) Higher Management

(D) None of these

41. Foreign Exchane Control Act was passed
in:
(A) 1947
(B) 1948
(C) 1949

(D) 1950

42. Effective communication consists of :
(A) Conciseness
(B) Clarity
(C) Completness

(D) All the above

33

SET-A

40. o =ifa FEiRa gk 2

(A) /91 yg/g g1

(B) H&IH U gINI
(C) S=d Ud=g gIRT

(D) 379 9 ®1g el

41. fageh ot = e aiRa faar
T
(A) 1947
(B) 1948
(C) 1949

(D) 1950

42. 99T TR § Affaford ©
(A) e
(B) Tqtear

(C) gorar

(D) STRIGd T
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43. Which is the Supreme Financial institution
in the sector of Rural finance :
(A) NABARD
(B) R.B.I.
(C) S.B.L

(D) State Co-operative Bank

44. Giffen goods are also called :
(A) Inferior goods
(B) Superior goods
(C) Complimentary goods

(D) None of these

45. Appointment of Company Auditor is made
by :
(A) Central Government
(B) Shareholders
(C) Directors

(D) All the above

34

SET-A
43. ITor foT & &7 § gdied G ©

(A) AETS

(B) wRag Rerd d&

(C) IR e d§&

(D) 9 FEHRT 9B

44. T T BT TG AHT ST & -
(A) P avg & w9 4
(B) S I & wU H
(C) WP ax] & U 4

(D) 379 9 ®1g el

45. BT fbetd bl FIYfT ol Sl @

(A) DT IRBR g

(B) 3ferenRal grRy

(C) FaTaTd! gRT

(D) SWRIGd T4 & gRT
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46. Sale without consideration is a :
(A) Gift
(B) Bailment
(C) Agreement to sale

(D) None of these

47. The Present Finance Minister of India :
(A) P. Chidambaram
(B) N. Sitaraman
(C) Yaswant Sinha

(D) None of these

48. Business environment analysis is concerned
to :
(A) Continuous Process
(B) Formation of proper strategy
(C) Knowledge of intra-relations

(D) All the above
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46. o1 ufoper & fama grar 2, U@ -
(A) SUBR
(B) ferg
(C) s g&va

(D) 579 | Blg -TEl

47. 9RA & gaq fod H#3A © ¢
(A) 1. faewRA
(B) TH. HIARAYT
(C) wra Ry=ar

(D) 579 | ®lg el

48. ITIATIS TITIROT fITAToT BT
2
(A) |aq ufshar |

(B) Sfud 3oifa & fAeior &

(C) IriF el & 34 9

(D) SWRIGd T4 A
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49. Object of Group Discussion is :
(A) Decision making
(B) Suggestions
(C) Exchange of Ideas

(D) All the above

50. Which of the following risks is not covered
under the General Insurance :
(A) Life Risk
(B) Fire Risk
(C) Marine Risk

(D) Theft Risk
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49. 9 frar—famst &1 Seew © -
(A) folr o
(B) g=1@
(C) fouRi &1 sMe=—ue™

(D) STRIGd T
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50. =1 9§ 9 pIH—N TIRgY AEF 99T b

fald T8l el ®
(A) ST STRaH
(B) 1 <TiRes
(C) wrfed SR

(D) AR STReH
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3.

SET-A

Optional Paper : Art Group (ﬁrﬁ%mﬁ YR YA : Dol EI"f)

Who one among the following defines
sociology as an attempt of the interpretive
understanding of social action ?

(A) Maclver and Page

(B) A. Comte

(C) E. Durkheim

(D) M. Weber

Who one among the following sociologists
called sociology as a social Physics ?

(A) H. Spencer

(B) E. Durkheim

(C) M. Weber

(D) A. Comte

In which year Auguste Comte coined the term
Sociology ?

(A) 1830

(B) 1839

(C) 1925

(D) 1920

1.

2.

3.
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9 T ¥ O IHSIRS Bl ATE G B

DI ARTHD TID A TS DBl AT
HET © ?

(A) HPTZR Ud U

(B) T. &<

(C) € g

(D) T4. IR

1 U {9 5 U ARSI =1 TSI
DI AHINSTH—HITDB] BB JHIRT AT 2

(A) T WRR

(B) §. 3™

(C) T. deR

(D) T. B

I B F ARSI 2es DI fHd au
H TeT ?
(A) 1830
(B) 1839
(C) 1925

(D) 1920
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(Name : Sociologists)
(a) Auguste Comte

(b) Emil Durkheim

(¢) Max Weber

(d) Karl Marx

Who one among the following differentiated
culture from civilization as “our culture is
what we are, our civilisation is what we
use.” ?

(A) Maclver

(B) Max Weber

(C) H. Spencer

(D) E. Durkheim

Match List-I with List-II and select the correct

answer from the codes given below :
List-1 List - 11
(Methodology)

(1) Social Facts

(2) Social Statistic and
social dynamics

(3) Historical Materialism

(4) Ideal Type

Code :

(@ B (© @

(A) 2 1 4 3
B) 1 2 3 4
©) 3 4 2 1
(D) 4 3 1 2
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=1 & A b Teb 7 Apfcr U AR Bl

3 UHR W BEhY “EHNI WA 98 © Sl
g9 ¢ iR TR AWl 98 © S g9 WAnT
A T g fear 27

(A) HPTER

(B) #99 d&R

(C) TaI. WR

(D) 3. g&H

AT 1P A 1 FHferd o aem | fay
Y FHel A Fel SR BT a9 DN

gl 1 =T 10
(e &1 a™) (eI ugla)
(@) I dC (1) AT hae
(b) SIS TEM  (2) AN wfeaw ud
BINSESISIEIEES]

(c) Ha deR (3) TRRea Heferasr
(d) Pret Hre¥ (4) ImSfeer erEu
[ Xl

(@ & © @

A) 2 1 4 3
B) 1 2 3 4
©) 3 4 2 1
(D) 4 3 1 2
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6.

7.

8.

Who authored the book “The Population
Bomb” ?

(A) T. R. Malthus

(B) Paul Ehrlich

(C) Neil A. Campbell

(D) John R. Weeks

Who coined the concept urbanism as a way
of life ?

(A) David Horrey

(B) Louis Wirth

(C) Daniel Bell

(D) E. E. Bergel

A place is treated as urban if it has a minimum
population of :

(A) 5000

(B) 10000

(C) 50000

(D) 100000

7.

8.
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“fE UTgelE 9) AMe JWie e
fordy ?

(A) T IR, AT

(B) Hret gexfera

(C) 1T T. HHda

(D) ST 3R,

“TRATE UFH S BT ANIBT B AT
RO ! g ?

(A) Sfas R

(B) g=d fad

(C) ST 9«

(D) 3. 3. afa

frdll W & SRR H9 F HH b
B AIfRY Afe IFHT TR &7 71 T
(A) 5000
(B) 10000

(C) 50000

(D) 100000
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9.

Which one of the following can be suitable
example under the scope of Sociology ?
(A) Commerce

(B) Community

(C) Bicycle

(D) Individual

10. Who one among the following wrote a book

11.

“Specter of Marx™ ?
(A) G H. Mead
(B) J. Derrida

(C) Max Weber

(D) Friedrich Engels

Who is known as the father of History :
(A) Sandrocottus

(B) Herodotus

(C) Alexander

(D) None of above
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SET-A

9, UGS & fAvg &5 & 94 # 9 9 T

3TeBT I&TexVT & bl & 7
(A) a1l

(B) wger

(C) arsfifdat

(D) &fad

10. 79 9 9 59 U 7 "Wdex H A1

TS g fordl 7 2
(A) . Ta. As

(B) oI, SR=r

(C) 7T daR

(D) wrIfg®d gioted

11. s8N &1 996 o Hal T @ -

(A) HUgidprcH
(B) eXISIeH
(C) 3Telduivex

(D) 579 | ®lg -TEl
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SET-A

12. Where was found the great bath in Sandhav 12. =@ 9RaT § a9 SRR ®al ure
Civilization : S
(A) Harappa (A) gSUT
(B) Lothal (B) @i
(C) Kalibanga (C) BTt
(D) Mohanzodaro (D) ArETSIGS!
13. Who was not among the NAVRATNA during 13. F=a fAsAed (Fa-) & 990 &
Chandragupta Vikramaditya (Chandragupta ARSI H $TH | B T8 oA
IInd) : (A) pifdiend
(A) Kalidas
(B) R R
(B) Amar Singh
(C) Ashwaghosh (C) Srei
(D) Shanku (D) grcg
14. Who is writer of “Prithviraj Vijay” : 14. "R faora” faat Tamn =k
(A) Jayanak Bhatt (A) STITId HcC
(B) Trivikram Bhatt (B) Bfdss wee
(C) Betal Bhatt (C) 9dTet 9ee
(D) None of the above (D) 398 | ®Ig T8
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SET-A

15. Gulam Chalisa was ended by : 15. T[T =TT T 3w febar of :
(A) Iltutmis (A) Sogdfaer
(B) Razia Begam (B) fomam
(C) Balban (C) 919
(D) Alauddin Khilji D) ERISEHERCEN]
16. Panipat Il War was faught in : 16. UIUT BT TART g of Sl T
(A) 1526 AD. (A) 1526 =
(B) 1555 A.D. (B) 1555 &1
(C) 1556 A.D. (C) 1556 1
(D) 1557 A.D. (D) 1557 g0
17.  Who among the following is not a Mugal ruler : 17. S99 ¥ ®F T IMEE ol o
(A) Akbar (A) 3fPpaR
(B) Jahangir (B) SIBRTR
(C) Shershah (C) IRTTE
(D) Shahjehan (D) ITEwiel
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18. Non-Cooperation movement was passed :
(A) 1919 A.D.
(B) 1920 A.D.
(C) 1921 A.D.

(D) 1922 A.D.

19. Who ended the Satipratha :
(A) Lord William Bentinck
(B) Lord Curzon
(C) Lord Dalhauzi

(D) None of above

20. When the cabinet mission was passed :
(A) 1945 A.D.
(B) 1946 A.D.
(C) 1947 A.D.

(D) 1948 A.D.
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18. 3TAEINT AT<IelT Ppd g3l -
(A) 1919 St
(B) 1920 =1
(C) 1921 1

(D) 1922 =01

19. |AYAT BT 3= bt T -
(A) ore faferaw dfe®
(B) dife doid
(OEISEEER

(D) 579 | ®lg -TEl

20. ofde e g wd qikd gai
(A) 1945 =
(B) 1946 <=1
(C) 1947 <=1

(D) 1948 =
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21. The Introduction of Goods and Service Tax
from July 2017 was expected to create :
(A) Tax Uniformity in Indian Market
(B) Improve Tax Compliance
(C) Only (A) above

(D) Both (A) and (B) above

22. Repo rate comes under preview of :
(A) Monetary Policy
(B) Fiscal Policy
(C) Labour Policy

(D) Population Policy

23. Open Market Operations are included in :
(A) Qualitative techniques of credit control
(B) Quantitative techniques of credit control
(C) Fiscal policy control

(D) Labour policy control
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21. SIS 2017 ¥ 9% UG HdT BR Pl AN DR

P gaaren Ig off & -

(A) IR d9TR | &R # THwudm

(B) PR AU H FUR
(C) SWRIFd Had (A)

(D) SWRIFd (A) 3R (B) i

23. gl IR &1 fohard Afafer g @

(A) ARE—GFT HT [ocAd Ay o
(B) ARg—f3i301 31 uRATTHS fafery |
(C) It =ifa =T

(D) sM #ifa f=or #
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24. World Population Day is observed on :

(A) 5th June
(B) 20th June
(C) 11th July

(D) 26th July

25. Disguised Unemployment in India is mainly

26.

related to :

(A) Hotel Industry

(B) Manufacturing Industry
(C) Service Sector

(D) Agriculture Sector

Skill Development Programme enhances :
(A) Human Capital

(B) Physical Capital

(C) Working Capital

(D) Fixed Capital
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24, favg T feaq 9917 ST ©

(A) 5 o
(B) 20 o
(©) 11 g

(D) 26 el

25. 9RT ¥ Ul g8 RSN (I8 RIGTR))

T w9 ¥ 9T ©
(A) BIed e

(B) fafsior ST
(C) Hared

(D) Y &

26. DA [ABT ST AT 8

(A) Aa Yoit
(B) wifcres ot
(C) BriEfer Yot

(D) Rer ol
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27. Which of the following measures have been

taken to make the agrarian structure

conductive to agriculture sector ?

(A) Government is charging zero tax

(B) Government adopting a new helicopter
policy to boost the services in the country

(C) India is the export hub for software
services

(D) None of the above

28. Which one of the following is the correct

sequence in decreasing order of the
contribution of different services to the Gross
Domestic Product of India ?

(A) Services > Agriculture > Industry

(B) Services > Industry > Agriculture

(C) Industry > Agriculture > Services

(D) Agriculture > Industry > Service
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27. Fr=fafad 5 4S9 AT SUR & N—Re]

28.

DI HE—IHE & Y IR I B AU
T8 7

(A) TRBR I PR of & &

(B) < # {1 ®I 9817 <1 & folt TR

S Beflblex fY o= W&l 8

(C) MRd WfrediR darn & foru faafq
I T

(D) SWRIFd H | Pl el

ARA & Aol BXe] STG A v~ el &
AT BT Tl 3Tl Hal AJhA eforad

FAPTATR?

(A) Far > Ffy > e
(B) Ward > JET > Ry
(C) SET > HY > Jard

(D) B > IART > AR
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29. The non-plan grants to the states by the

30.

31.

Central Government are made on the
recommendations of :

(A) Reserve Bank of India

(B) Ministry of Finance

(C) Finance Commission

(D) State Bank of India

The Chairman of Niti Ayog is :
(A) The President of India

(B) The Vice-President of India
(C) The Speaker of Lok Sabha

(D) The Prime Minister of India

The most accurate term used for the shape
of the earth is :

(A) Acircle

(B) A sphere

(C) A geoid

(D) None of the above
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29, Bg BN gRT ISAT HI AN—IJToAT

e FeferiRad &1 argeiar wR faar ST
g

(A) IR Rord §@

RESREIGD

(C) T emamT

(D) e 9% 3ifw sfear

0. Y AT & 37T 8

(A) IRA & I
(B) ¥Rd & SU—ITLUf
(C) i |91 & |1

(D) IRd & WeIT=HA!

31. Yedl @ afgfd & oy Wad SuYad ores

-
(A) b g1

(B) U el

(C) U igs (Jeeuranfd)

(D) SWRIad H BIS 78!
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32. The latitudes and longitudes cut each other

at :

(A) 360°
(B) 45°
(C) 180°

(D) 90°

33. What happens when one crosses 180°
longitude from East to West ?
(A) One gains a day
(B) One looses a day
(C) There is no change in day and time

(D) None of above

34. Name the narrow stretch of land, with water

on both sides, that joins two large land

masses :

(A) An island
(B) A peninsula
(C) An isthmus

(D) A strait
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32. 3fETer 3R QTR YW@ U AR Bl BIed]

g

(A) 360°
(B) 45°
(C) 180°

(D) 90°

33. 9 BIs Al 180° IR &I gd ¥ 4iaH

Bl AR YR AT & Al FAT BT © 7
(A) I9HT T a7 9¢ o @

(B) S9®T U& T & ST &

(C) fos1 o1 w5y # ®I uRad= T8 rar
(D) SWRIGd H | Pl e

34. U Udel YE@US HT M 6 TH1 3R ST

YT Y8l & UR=] 98 < faerd qavsi ol
Siredr ®

(A) TP gIv
(B) T& UHIETT
(C) Udh W Al AT IUASHSH

(D) U STETE AT STaSHSHE
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35. Ozone depletion will adversely affect

36.

37.

mainly :

(A) Climate

(B) Human Community

(C) Animal & Plant Community

(D) All the above

The modern geographical studies are affected

most by which of the following :

(A) This GIS (Geographic Information
System)

(B) The Map

(C) The Space

(D) Ecology

Indian states were delimited linguistically in
the year :
(A) 1947
(B) 1956
(C) 1966

(D) 2000

SET-A
35. TSI &Rl (81¥) b1 fausid yHrd g

TS

(A) STeTdry W

(B) #Id g1 W

(C) urvll Ud Urey §qard WX
(D) SWRIFd T4 W

36. g9 AIMfold 3T TR Wdigd Y9Td

ESIE

(A) STRIEUH (Mol &= a= &)
(B) A= HT

(C) ST (1) &l

(D) aIRRexfrat &1

37. AR [T BT A & IMER R IRAHA
fra qu foar -
(A) 1947
(B) 1956
(C) 1966

(D) 2000
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38. The study of the number of population and
its variation in time and space called :
(A) Population density
(B) Population distribution
(C) Population dynamics

(D) None of the above

39. Which region of India has internal drainage ?
(A) Central Himalayas
(B) Shivalik Region
(C) Thar Region

(D) Chhotanagpur Region

40. HDI stands for :
(A) Health Development Index
(B) Human Development Index
(C) High Disinvestment Index

(D) Health Degradation Index
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SET-A

38. UHY 3R WH b T H ST IR

IAH gRTAdT & AT BT TH ©
(A) STHEET g9

(B) ST faaRoT

(C) S rferefierar

(D) SWRIad H BIS 78!

39. YRd & b9 97T ¥ 3dRe Yarg YoTell Ut

STl 7 ?

(A) =g Ao
(B) RRrarfers &=
(C) IR U<9r

(D) BICHNTYR Yo

40. TASI3ME. (HDI) &7 99 2 :

(A) WY fdord Gadhidh
(B) #q fddrd Fadbid

(C) S=a fafaer gasmis

(D) TRy I[ahHYT JADih
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41. The Constitution of India discribes India as :

(A) Quasi-Federal

(B) A Union of States

(C) A Unitary State

(D) A federation of State and Union

Territories

42. The Cuban Missile Crisis occurred in :

(A) 1962

(B) 1961

(C) 1960

(D) 1963

43. Who has written the book ‘Politics’ :

(A) Plato

(B) Hobbes

(C) Locke

(D) Aristotle
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SET-A

41. R WA B FFAR 9RT U

(A) Ig—HaTHD

(B) AT T Y

(C) UTHS I

(D) 41 3R dg I U<el &1 |99

42. FggT HATSd Hehe fHd Ty gam o ?
(A) 1962
(B) 1961
(C) 1960

(D) 1963

43. iferfee gxis fhdsd grr fordl i & 2
(A) wIeT
(B) e
(C) di®
(D) 3RE]
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44. Power of the people to Propose legislation :
(A) Initiative
(B) Referendum
(C) Recall

(D) None of the above

45. Right to form association is a :
(A) Natural Right
(B) Political Right
(C) Legal Right

(D) Civil Right

46. Fascism stood against :
(A) Democracy
(B) Liberty
(C) Internationalism

(D) All the above
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44, STEICT §RT B & YK S Bl T Had
g7
(A) TR
(B) SHd g
(C) arad gt

(D) S H | By el

45. ST 999 BT SMABR ® ?
(A) Frfere Siferer
(B) oI IMEHR
(C) FITH TP

(D) ARTR® 3ATHR

46. wrAATE fhaa Raars 2
(A) dArHaa
(B) wac=wn
(C) ST

(D) Swa |+
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47. For how long are the Rajya Sabha members

48. How many elements of state are :

49. Which is an agent of Public opinion :

50.

elected ?

(A) 2 years
(B) 5 years
(C) 6 years

(D) 4 years

(A)5
(B) 4
(C) 6

(D) 3

(A) Political Party
(B) Press
(C) Educational Institutions

(D) All the above

Who decides whether a bill is a Finance Bill
or not ?

(A) Chief Justice of the Supreme Court
(B) Prime Minister

(C) Speaker of the Lok Sabha

(D) None of the above
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47, ISI9T Aoy fhdHr sEfe & forg farfea

g1 8 ?
(A) 2 I9
(B) 5 au
(C) 6 a9
(D) 4 a9

48. T & s d« B § ?
(A) 5
(B) 4
() 6

(D) 3

49. SHd BT U B 7 ?
(A) SIS e
(B) o
(C) TRreqor HRer =

(D) Swa |+

50. dI1s fa<r fagges © 3eEr F8 8 &1 Al

DI BRAT & ?

(A) QU BIC BT &I AT
(B) ger=rH=

(C) Idh T 3Neged

(D) 579 | Blg =TEl
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Wrong Right

SOO@® ®OO0
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